Sling for LED mounting 1500 Led':ﬁel

X la
L
.\i 2a
NE \
Hy
&
—~
2c
1b
Set contains: / pcs
1a dowel pin Fi8x40 2
1b screw 4x40 2
3a 2a nut M4 2
2b round washer M4x0,8 2
2c machine screw M4x10 2
3b 3a K.R.A. sling - sleeve 2
3b K.R.A. sling - mandrel 2
3c K.R.A. sling - nut 2
4 automatic lock of the steel cable 2
4a machine screw M3x5 2
3c 5 steel cable 7x7 1,0mm 1500 mm 2
5
max 100N
4
% 4a
Mounting
N Installation on the example of LINEA20 LED profile
¢ / All the steps shown below should be repeated for the second steel cable
drill screwdriver
MOUNTING TO THE CEILING
Direct
4 H
3a
3b
la 3b 3b 3c
3c G
v

Ledmﬁel

MOUNTING TO THE PROFILE

With flexible mounting plate

Directly to the profile




